b) ZHGA%: nOfl CHSEOF 1+ 4 + - + n? = X2E o\,

2. A4 a, b2t A4 nof Th a® — b* = (a +b)(a —b)OICt. V2,¥3 > 1YS 0|2510] O+ FHE
SYSHAI2. T, b >0 T, = > 10|¥ a > bO|CE'S O|8SHAI2,

Vo -Va>V3-3V2 ol

3. A% a,bt 2kAS n0f| CH3H (a + b)® = (a + b)(a® —ab + b»)O|1, VaV/b = Vab, V2,33 > 10|04,
V9 + V4 —-36>00|Ct 0|HS 0|85t CHS YAHE SHSHAIL.

(V2+33)" > 5+ V& - 3/6 olct,

(¥z+33)°

) meaw)

o

E) > 198 EO|AL.

5. Ak 13 27| AABIORZ LiLo) WOl 180 2 g0l HAE Usich B4

—
= 2
@ L0 B02= ¥+E Tt 0| 0|8 YA A4l Lee 27t RYSIHHE SFoHAI2.

—



